Shaft Supports Fianged Mount with Siit Type

Standard Type / Long Sleeve Type

Shaft Supports Flanged Mount with Siit Type

WlFeatures: Easy positioning during assembly.

With Pilot / With Dowel Holes

Mistandard Type | Round Flanged [ Square Flanged | Compact Flanged | [[Material | EJSurface Tr A y MWith Pilot Round Flanged Compact FIanged@MaterialESurface Treatment  [JAccessory
s Standard :;:aSB :l:wgs :;:agB ENEI]JiJ/m El tBIIaCI;\l'O)IiidlePI i :eXSSZke:He;dCZDCSm:Hpc STHWIRB | STHWICB | en1.1191 Black Oxide Hex Socket Head Cap Screw 1 pc.
nadar g ectroless Nickel Plating | Hex Socket Head Cap Screw i i
SSTHWR__[SSTHWS _|SSTHWC _|EN 14301 Equi. - 1 po. (Stinless Stee) STHWIR | STHWIC | EauV. | Electroless Nickel Plating Hex SocketHoat G Srw
1 1 T4 Long |STHWRBL [STHWSBL |STHWCEL | N L.11st Black Oxide | ox Sucke Fead Cap S 255, SSTHWIR | SSTHWIC Jen 14301 Equiy e
STHWRL |STHWSL |STHWCL Equiv. Electroless Nickel Plating | Hex Socket Head Cap Screw
BlLong Sleeve SleeVe |SSTHWRL |SSTHWSL |SSTHWGL e 430 Eauv. - 2pcs. (Stainlss te) [RotiS 10| YY)
A MCompact Flanged _ F
3 ) Ls
1 11 il | & ,L
'c& —
lStandard - Through Mounting Holes Q// &=
lRound Flanged M Square Flanged ;I Ml Compact Flanged svg/( y) Q j;,‘i
1. B e | 4-d
ﬂ S M S
] S : REVZ: \\ !
0\ r 'c’ = = S —l = £
B ‘? =) AQVA of f rL\V ’ Part Number Sleeve Included Unit Price
\\ A ;! Tvoe Dh7 Thickness| L1 (D1|H | T [B |P |[W|P1|F |d | S |S1| X |Y |d1{d2|M| Scew | Round Flanged |Compact Flanged
P /A yp N M x Length { STHWIRB | STHWIR | SSTHWIR | STHWICB | STHWIC | SSTHWIC
4d P 4-d 8 +0015| 8.5 |23|25(39 32127(25|20 13:5) 7.5(3.5(7.5/4.6|M4| M4x10
Round Flanged 8M 0 5 10 4.5 -
ﬁva/( wvi/) STHWIRB |10 10 |25/30/49 40(32(33|23], 5| |, 5/10]3 M5x10
STHWIR 12 2813252 42134(35]25| " 11 4
lRound Flanged MlSquare Flanged H Ml Compact Flanged r SSTHWIR 15 +g-018 10 |33]35(56| 6 [12]46(37(37/27/55/1.5 1215 9 |5.6/M5 M5x12
e Y Y 16 9.5 363556 12 46|37 (37|27 5.5 125 ’
S M S 1 Gompact Flanged 20 T 4040 |64 8 52]4243]30 |14] 6 M5x16
! | AR L&l STHWICB | 2517 46|45 | 69 15197 4714634 16.6 17
= = =8 g ,/r,‘? s 8 = STHWIC 30 12,5 [50|55(79[10 67|57 50|45 2 [20]1012]6.6/M6] M6x20
= wal S S (B ~ SSTHWIC | 40 |*3%| 15 |67|70|104/12|18|87|76 |67 (55| 9 |1.5| |26|13|14| 9 [M8|M8x26 - -
H— ~ Z e
H £= - With Dowel Hol
;I' 2 = 4-d P P 4-d W . ! owel Holes Round Flanged Compact Flanged@MateriaI@Surface Treatment| [NAccessory
- L L | STHWRBK [STHWCBK]| en1.1191 Black Oxide Hex Socket Head Cap Screw 1 pc.
Part Number [ sl Included Se 3 STHWRK |[STHWCK Equiv. | Electroless Nickel Plating Hex Socket Head Cap Screw
Toe BT hhickfnz‘g(u) L(Li|Di|H|T|B|Bi|P|K|W|Pi|F|d|S|S|X|Y|di|d2|M nﬁauxLenng * SSTHWRK| SSTHWGK .01 o - ot Sainiess Stoe
8 85 |18 25| 39 32|30 |27|25(20|35 75|35|7.5(4.6 | M4| M4x10 P
gor JEEIN l l o510 ()
Standard 10 kL 30 | 49 10 4038 |32(33|23 103 M5x10
Round Flanged  Square Flanged Compact Flanged *12 22|33 20 45 15 IRound Flanged I Compact Flanged
STHWRB  STHWSB  STHWCB 18 o018 |95 [2a] |2 % . g el e Bl il - wo.oz K £
STHWR STHws STHwe s 0 0|2 35 | 56 12— 46 | 44 | 37 | 37 | 27 |55 125 3 |58Me P M 2-Qn7 S| m
SSTHWR SSTHWS SSTHWC *16 9.5 30 | 45 24 |15 ? I = 5; }< o
*20 0 |132[48lae] 52 |50 | 424330 |14] — | 7 5 g’r 8 2N
Long Seeve (nly aplcable o D imension denotedwith* merg|_~25 | * 3021 38 | 57 | 45 | 69 57 | 54 | 47 | 46 | 34 | 6.6 17 X ! 1 ’Li&[ P Ew
STHWRBL ~ STHWSBL  STHWCBL *30 105 406055 791 "I 153067 [60]57 5045 2 B - leal sl e j > //7
STHWRL ~ STHWSL  STHWCL *35 © [48]72|60] 94 77 | 71| 66 | 58 | 50 23 |12 ' X | I D‘Q
SSTHWRL ~ SSTHWSL ~ SSTHWCL [ 40 |*0%% [745 |5 [s25[ 70 [104| {18 [36 7|81 76 |67]55] 9 26 [13] 14| 9 |M8| M8xe6 = w_ | N4
*50 175 |65 [97.5/ 85 [119 22 | 44 [102] 94 [ 91 [ 82 | 60 32 16 | 18] 11 [m10] miox32 T
(®)Long Sleeve Type is available only for D dimension denoted with * mark. - -
[l Standard lLong Sleeve Part Number Seete Included Unit Price
Unit Price Unit Price T D Thckess) L [D1|H | T |B|P |W|P1|F|d|S|S1|X|Y |di1|d2|Q|M| Srew | Round Flanged |Compact Flanged
D Round Flanged Square Flanged Compact Flanged D Round Flanged Square Flanged (o] Flanged ype HZ M MxLength STHWRBK | STHWRK | SSTHWRK | STHWCBK | STHWCK | SSTHWCK
STHWRB | STHWR | SSTHWR | STHWSB | STHWS | SSTHWS | STHWCB | STHWC | SSTHWC STHWRBL] STHWRL | SSTHWRL |STHWSBL] STHWSL | SSTHWSL |STHWCBL] STHWCL [SSTHWCL
Round Flanged
A 12 SWeEK 12 40018 | 10 | 223252 6 10]42|34|35|25(4.5 15 11| 4 | 4] MEx12
10 16 §§¥vaf}§x 16 | 0 9.5 |30|35|56 12 46 |37|37|27|5.5 12| 5 o 56l 5 Ims
12 20 20 324064 5242|4330 |[1.5] |14 :
13 25 Compact Flanged 4001 10 8 16 L M5x16
15 30 STHWCBK | 25 |~ 38 (45|69 5747|4634 6.6 2 117
STHWCK —— 0 15 6
;g ig SSTHWCK | 30 12.5|40(55|79|10 67|57 |50 |45 20|10|126.6 M6 | M6x20
ig 50 Ordering
35 Example STHWIR10
STHWRBK25
40
50

Urdering Part Number

Example STHWR10



